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0,0 0,2 0,4 0,6 0,8 1,0 chromatic value Aq 10 Bg10)
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Xy=94,81,Y,,=100,00,2,,=107,33 B1 Xy=94,81,Y,,~100,00,2,~107,33 B2
Xy=0,3137y,,=0,3309 489 X=0,3137y,,=0,3309 =40
Ar=(ar~[ag n+ay yt+ag al) Y & Ax=(ay[ag n+ay, y*ap al) Y
By=(1-[by n+by y+by al) Y 3 B;=(b—[by 02 y+02 Al) Y
ay = ayo [(x-0,17D/y] 4 3 ay = a0 [(x—0,17D/y] 89 +
by =byo [ZA 0,=byo [(Mp1x-+bp1)/y] 75
a0= 1, byy=—0,4 A a0=1, b=-04 ® "\4'3\ A
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n = D65 —40 ' ' 40 n = D65 —40 \ ' 40
ay,y=ay(Y/Y1g-1) a5 y=agy(Y/Y1g-1) 56
by y=boy(Y/Y1g~1) 1 by v=boy(Y/Y1g-1) 24 %
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Ostwaldcolours (0) Y\y=100 24 Ostwaldcolours (0) Yy\=100
max (m) chromatic value, D65 10 T-40 max (m) chromatic value, D65 T-40
chromatic value A1 10, B1.10 chromatic value A 10, Bo10
CE341-3A_1 CE341-4A_1
Xy=94,81,Y,,=100,00,2,,=107,33 B3 Xy=94,81,Y,,~100,00,2,~107,33 B4
Xw=0,3137y,,=0,3309 +40 X=0,3137y,,=0,3309 +40
Ag=(az-[ag ytag y+agal) Y 89 75 As=(ag-[ag ntas,y+asal) Y
Bg=(bg-[bg ntb3 y+b3 Al) Y B,4=(b4~[Dy, 7+by y+by l) Y
ag =2y [(x-0,179/y] ac g a4 =30 [(x-0.173y] 1 a0
b3=byo [(Mp1x+bp1)/y] 1 bs=byo [(Mp1x-+bp1)/y] 75
80= 1, byo=-0,4 A a0=1, by=-0,4 /Oer—‘{)\t\éf A
Mpy=—1,344,65,=0,781 \ \ 3 Mp;=-0,157 bp;=0,385 \ . N
n = D65 —40 ' ' 40 n = D65 —40 ' ' 40
a3 y=ay(Y/Y1g-1) 3 3y, y=agy(Y/Y1g-1) 5!
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max (m) chromatic value, D65 T-40 max (m) chromatic value, D65 T-40
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CE341-5A_1 CE341-6A_1
X,=94,81,Y,,=100,002,=107,33 B, X=94,81,Y,,100,007,=107,33 B,
Xy=0,3137y,,=0,3309 X0 X=0,3137y,,=0,3309 240
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B CIE 1964 X10 Ostwaldcolours (0) Y\\=100 9
0,0 + 70865e- max (m) chromatic value, D50 T-40
0,0 0,2 0,4 0,6 0,8 1,0 chromatic value Aq 10 Bg10)
CE341-1A_1 CE341-2A 1
Xu=96,72Y,~99.99.2,78141 B, Xu=96,72Y,=99,992,~8141 B,
Xy=0,3477y,=0,3595 240 Xw=0,3477y,,=0,3595 240
Ar=(ar~[ag n+ay yt+ag al) Y 91 Ax=(ay[ag n+ay, y*ap al) Y
B1=(by=[by by y+by a]) Y U Bo=(bo{ba, o,y 0 Al) Y
a1 =ay[(x-0,179H] 4 2y = a0 [(x=0,17D/y] 4
by = b0 [2/Y] =bs0 [(Mpx+bp1)/Y] 91 79
a,0=1, byy=-0,4 A ay=1, byp=-0,4 4 A
my1=1,000,bg;=0, 17,1 : \ R 2
t

n = D50 _40

»
n = D50 40
3y, y=ay(Y/Y1g- 1) a5 y=agy(Y/Y1g-1) & 5
by y=boy(Y/Y1g-1 1 34 b2 v=boy(Y/Y1g-1) |8
a,y=0,000,b,y=0, OOO a,y=0,000,b,y=0,000
2y 4=0,000,b; ,=0,000 ap o=0,000,b, ,=0,000
Ostwaldcolours (0) YW—100 Ostwaldcolours (0) Yy=100
max (m) chromatic value, D50 T-40 max (m) chromatic value, D50 T-40
chromatic value (A; 10, B110) chromatic value A, 10, Bo10)
CE341-3A_1 CE341-4A_1

X=96,72,Y,=99,997,=8141 B, X,=96,72Y,799,997,781,41 B,
Xy=0,3477y,,=0,3595 140 Xw=0,3477y,,=0,3595 T 40
Ag=(ag-[ag ntag y*ag al) Y As=(ag~[ag ntag ytag al) Y
B3=(bs[b3 b3 y+b3 al) Y 91 79 B,4=(b4~[Dy, 7+by y+by l) Y

ay =2y [(x-0,171/y] +

=50 [(Mp1x+bp1)/Y] 91 79

ag = ay[(x-0,17D/y] AL 4
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CE341-5A_1 CE341-6A_1
Xu=96,72Y,~99.99.2,78141 B, Xu=96,72Y,=99,99.7,~8141 B,
%y=0,3477y,=0,3595 240 Xy=0,3477y,,=0,3595 240
As=(a5-[as5 n+as y+as al) Y As=(ag-[g n+3g,y*ag,Al) Y
Bs=(bs—[bs +bs y+05 ) Y Bg=(bs~[Dg,n+bs y*+0p Al) Y 91| 79
85=8,,{(0,86¢-0,71y-0,026)$] 9 79 g = a0 [X/y] =+ 44
b5=b2x[(0,19<+0,3&—0,240€g5/° w4 be=b,0 [(Mp1x+bp)/y]
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0,0 0,2 0,4 0,6 0,8 1,0 chromatic value Ag 10 Bg10
CE341-1A_1 CE341-2A 1
Xu=101,75Y,,=100,00Z,~64.44 B, Xy =101,75Y,,=100,00Z,~64,44 B,
%y=0,3822y,,=0,3756 40 %y=0,3822y,,=0,3756 00
Ar=(ar~[ag n+ay yt+ag al) Y Ax=(ay[ag n+ay, y*ap al) Y
B1=(by—[by y+by y+by A) Y 92 g» Bo=(by=[by +bs y+0y Al) Y
ay = ayo [(x-0,17D/y] S ay = a0 [(x—0,17D/y] 4
by =byo [ZA 1 5 =bs0 [(Mpx+bp1)/Y] 92| g
ay=1, byp=-0,4 ay=1, byp=-0,4
mr1=1,000,b1,=0,171 , , As mp1=-0,157bp=0.385\__, % A
; t t b f t t b
n=P40 -40 40 n= P40 -0 pr—g | N 40
ay,y=ay(Y/Y1g-1) 3 a5 y=agy(Y/Y1g-1) 17 3
by y=boy(Y/Y1g-1) 5 by v=boy(Y/Y1g-1) X

ay=0,000,6,y=0,000
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CE341-3A_1 CE341-4A_1
X,=101,75),,100,007,764,44 B, X,=101,75Y,,100,007,,764,44 B,
X=0,3822y,,=0,3756 L40 Xw=0,3822y,,=0,3756 T 40
Ag=(ag-[ag n+ag y+ag al) Y Ag=(ag~[ag n+ay, y+ay Al) Y
B3=(bs[b3 b3 y+b3 al) Y B,4=(b4~[Dy, 7+by y+by l) Y
ag = a0 [(x-0,179h] 1928 ¢ a4 =ay[(x=0,17D/y] +
b3=byo [(Mp1x+bp1)/y] =50 [(Mp1x+bp1)/Y] 92 g
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X,=101,75),,100,00Z,764 44 B X,=101,75Y,,100,00Z,,64,44 B,
Xy=0,3822y,,=0,3756 L40 Xw=0,3822y,,=0,3756 140
As=(35[35,1*35,y*a5,a]) Y Ae=(36~{36,1*35,y*35l) Y
Bs=(bs—[bs b5 v+bs Al) Y Bg=(Pg—[bg n+bs,y+0s Al) Y
as=ay,[(0,86x-0,71y-0,026)§] ob g = a0 [X/y] 92 82 45
bs=b,[(0,19+0,38/-0,240)§] f 82 bg=bao [(Mp1x+0p1)/y]
age = 1,000y, = 1,00 ﬁm/’C\o\f A a0= 1, byg= ~0,4 A
As.G.v,R=475,503,574,494¢,E nm \ 5 L oB1 6
n = P40 _40 ' ) 40 n = P40 _40 ) 389 4o
a5 y=ay(Y/Y1g-1) 54 ag y=apy(Y/Y1g-1)
bs y=boy(Y/Y1g~1) 17 b, y=boy(Y/Y1-1)
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0,8 o525 max (m) chromatic value, AOO X,,=0,4511y,,~0,4059 +40
b Mghromaticity (10, Y10) Ao=(ag—[3g r+ag y+ Y
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+ t t b
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CIE 1964 X10 Ostwaldcolours (0) Y\\=100
0,0 + 700 max (m) chromatic value, AOO T-40
0,0 0,2 0,6 0,8 1,0 chromatic value Ag 10 Bg10
CE341-1A_1 CE341-2A 1
Xy=111,15Y,799,992,73519 B, X4=111,15Y,,799,99.7,=3519 B,
Xy=0,4511y,,=0,4059 Lo X=0,4511y,,=0,4059 T 40
Ar=(ar~[ag n+ay yt+ag al) Y Ax=(ay[ag n+ay, y*ap al) Y
B1=(by—[by y+by y+by A) Y Bo=(by=[by +bs y+0y Al) Y
ay = ayo [(x-0,17D/y] L ay = a0 [(x—0,17D/y] 4
by =byo [ZA 79 84 0,=byo [(Mp1x-+bp1)/y]
a0=1, by =-0.4 FEE/O//_ﬂ\A{ A a0=1, by=-04 79 84 A
mr;=1,000,b3=0,171 8 . A mMpy=-0,157,bp,=0,385' 47 Fh2
f t t b ﬂ—&iﬁ;
n = A00 —40 /'AA,J 40 n=A00 —40 52 40
ay,y=ay(Y/Y1g-1) a5 y=agy(Y/Y1g-1) e 20
by v=boy(Y/Y1g-1) B ]| 2 03 y=boy(Y/Y1g-1) 1
,,=0,000,5,,=0,000 a,,=0,000,5,,=0,000
31 4=0,000,b; =0,000 ay 4=0,000,b, ,=0,000
Ostwaldcolours (o) Yyy=100 Ostwaldcolours (0) Yy\=100
max (m) chromatic value, AOO r—40 max (m) chromatic value, AOO T-40
chromatic value A1 10, B1.10 chromatic value A 10, Bo10
CE341-3A_1 CE341-4A_1
Xy=111,15Y,799,997,73519 B, X4=111,15Y,,799,997,=3519 B,
Xy=0,4511y,,=0,4059 +40

Xy=0,4511y,,~0,4059
A

ag = ay[(x-0,17D/y]

3=(83[ag n+ag y*+ag al) Y
Bg=(bg-[bg ntb3 y+b3 Al) Y

As=(8y~[a4,1+aq y*+ag al) Y
B=(D4=[byg +ba y+04 pl) Y
ay =2y [(x-0,171/y] 4

b3=byo [(Mp1x+bp1)/y] 47 =50 [(Mp1x+bp1)/Y]
ay0= 1, byg=-0,4 79 a50= 1, byg= -0,4 79 a4 A
mp;=—1,344,b5,=0,781 3 mp;=—0,157,bp,=0,385 a7 4
+ b -P—‘—L%

n=A00 -40 40 n=A00 =40 52— 40
a3 y=ay(Y/Y1g-1) 3y, y=agy(Y/Y1g-1) 20
b y=boy(Y/Y1g-1) 15 | by y=boy(Y/Y1g-1) 1
,,=0,000,5,,=0,000 a,,=0,000,5,,=0,000
a3 4=0,000,b3 4=0,000 a4, x=0,000,b, ,=0,000
Ostwaldcolours (o) Yyy=100 Ostwaldcolours (0) Yy=100
max (m) chromatic value, AOO r—40 max (m) chromatic value, AOO T-40
chromatic value Az10, B310 chromatic value A410, B410

CE341-5A_1 CE341-6A_1
Xy=111,15Y,,799,997,73519 B, X4=111,15Y,,799,99.7,=3519 B,
x,=0,4511y,,=0,4059 F40 X=0,4511y,,~=0,4059 +40
As=(35[35,1*35,y*a5,a]) Y Ae=(36~{36,1*35,y*35l) Y
Bs=(bs—[bs b5 v+bs Al) Y Bg=(Pg—[bg n+bs,y+0s Al) Y
ag=a,,[(0,86x-0,71y-0,026)¥] L ag =y [x/y] +
bs=by,[(0,19x+0,38/-0,240)§] - bg=b20 [(Mp1x+bp1)/Y] 84 a7
a5, = 1,00,b, = 1,00 o ay0=1, byg=-0,4 79
Mooy r=d75503574.49880m | 0w A S ) 4; As
n = A00 _40 . e 40 n = A00 —40 955 ' 40
a5 y=apy(Y/Y1g-1) 15 20 ag y=apy(Y/Y1g~1) /2.0/
bs y=boy(Y/Y1g~1) | b, y=boy(Y/Y1-1) 52 5 |
,,=0,000,5,,=0,000 a,,=0,000,5,,=0,000
a5 4=0,000,b5 ,=0,000 a5,4=0,000,b5 4=0,000
Ostwaldcolours (o) Yyy=100 Ostwaldcolours (0) Yy=100
max (m) chromatic value, AOO r—40 max (m) chromatic value, AOO T-40

chromatic value (As 1. Bs 10

chromatic value Ag 10, Bg10
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Ostwaldcolours (o)

Yw=100

Xw=99,99,Y,,=99,99,7,,=100,00 B

515 520 : 0
o2 525 Max (m)_ c_hromatlc value, E00 %=0,3333y,=0,3333 90 140
Mghromaticity (X1o Y10 Ag=(ag-[20,*a0,y*20 ) Y U
Name and spectral range —(h—Th. ’ '
Ry 561 770 ¥, 520_770 Bq=(0~[o,i+Do,y+00,4l)
m " ' —
Gm 475 573 G, 380_561 ag = ao [x/y] 68 + 4
08m 380 520 M, 573_475 bg = bao [2M)
ay =1, byp=-0,4
1 1 1 Lo
n=E00 4o ' ' 40
25700 ag,y=ay(Y/Y1g-1)
b, y=boy(Y/Y1g-1)
apy=0,000,b,y=0,000 5 T 3
S a5,4=0,000,by 4=0,000
l CIE 1964 X10 Ostwaldcolours (0) Y\\=100 22
0,0 + ZoY65e max (m) chromatic value, E00 T-9%
0,0 0,2 0,4 0,6 0,8 1,0 chromatic value Aq 10 Bg10)
CE341-1A_1 CE341-2A 1
X,=99,99,Y,,~99,99.7,~100,00 B, X=99,99,Y,=99,99,7,~100,00 B,
%y=0,3333y,,=0,3333 1m0 Xy=0,3333y,,=0,3333 240
Ar=(ar~[ag n+ay yt+ag al) Y 77 Ax=(ay[ag n+ay, y*ap al) Y
By=(1-[by n+by y+by al) Y B;=(b—[by 02 y+02 Al) Y
a1 =ay[(x-0,179H] 8 1 4 2y = a0 [(x=0,17D/y] 9 T
by =byo [ZA 0,=byo [(Mp1x-+bp1)/y] g
ay=1, byp=-0,4 A ay=1, byp=-0,4 44 A
my1=1,000,b5;=0,171 ) ) 4 mP1:—0,157,bp1:0,385f ) ) 2
n = E00 —40 ' ' 40 n =E00 40 \ ' 40
ay,y=ay(Y/Y1g-1) a5 y=agy(Y/Y1g-1) 55
by y=boy(Y/Y1g~1) b2 v=boy(Y/Y1g-1) 22| o
a,y=0,000,0,,=0,000 5 T 3 ay=0,000,5,y=0,000 T
ay o=0,000,b; x=0,000 ap,4=0,000,b, 5=0,000
Ostwaldcolours (0) Yj=100 22 by Ostwaldcolours (0) Yy\=100
max (m) chromatic value, EOO T-40 max (m) chromatic value, EOO T-40
chromatic value A1 10, B1.10 chromatic value A 10, Bo10
CE341-3A_1 CE341-4A_1
X,=99,99,Y,,~99,99.7,~100,00 B, X=99,99,Y,=99,99,7,~100,00 B,
%y=0,3333y,,=0,3333 240 Xy=0,3333y,,=0,3333 240
Ag=(az-[ag ytag y+agal) Y As=(ag-[ag ntas,y+asal) Y
B3=(bs—[bs,tbs y+bs al) Y 90 77 B=(b4~[D4 r*Dg y by A]) Y
ag = ay[(x-0,17D/y] 4 & ay =2y [(x-0,171/y] + 9%
b3=byo [(Mp1x+bp1)/y] // b=, [(Mp1x+bp1)/y] 77
a0= 1, byp= 0,4 8 A a90= 1, byg= ~0,4 /"6'5’——0\0\4’4
Mp1=—1,344 05,=0,781 \ \ 3 Mpy=-0,157,bp1=0,385 \ \ N
n = E00 —40 ' ; 40 n = E00 _40 ' ' 40
a3 y=ay(Y/Y1g-1) 3 3y, y=agy(Y/Y1g-1) S
b y=boy(Y/Y1g-1) | by y=boy(Y/Y1g-1) 249 |
a,y=0,000,0,y=0,000 5 ay=0,000,b,y=0,000
ag 5=0,000,b3 x=0,000 29 ay,4=0,000,b, ,=0,000
Ostwaldcolours (o) Yyy=100 Ostwaldcolours (0) Yy=100
max (m) chromatic value, EO0 T-40 max (m) chromatic value, EO0 T-40
chromatic value Az10, B310 chromatic value A410, B410
CE341-5A_1 CE341-6A_1
X,=99,99,Y,,~99,99.7,~100,00 B, X=99,99,Y,=99,99.7,~100,00 B,
%y=0,3333y,,=0,3333 240 Xy=0,3333y,,<0,3333 240
As=(35[35,1*35,y*a5,a]) Y Ae=(36~{36,1*35,y*35l) Y
Bs=(b5~[bs,*Ds,v+Ds ) Y & B=(06~[Dg,1+D,y+bg, A1) Y o ||7y
as=ay,((0,86x-0,71y-0,026)y] 7 ag =y [x/y] 4 44
bs=b,{(0,19%+0,38/-0,24 44 bg=b20 [(Mp1x+bp1)/Y]
apy = 1,00, = 1,00 a,0=1, byy=-04 68
\g,G.v,R=475,503,574,494¢ E nm ) 5 ) ) ) 6
n = E00 —40 ' ; 40 n = E00 _40 ' ' 40
a v=apy(Y/Y1g-1) g ag y=apy(Y/Y1g~1) 3
bs v =by(Y/Y1g-1) 3 Bg,y=boy(Y/Y1g-1) 1
a,y=0,000,5,,=0,000 22 a,y=0,000,0,y=0,000 55
a5 4=0,000,b5 5=0,000 ¥ a5,4=0,000,b5 4=0,000 2 9
Ostwaldcolours (o) Yyy=100 Ostwaldcolours (0) Yy=100
max (m) chromatic value, EOO T-40 max (m) chromatic value, EOO T-40

chromatic value (As 1. Bs 10

chromatic value (Ag 10. Bg 10

CE341-7A_1

CE341-8A_1




Ostwaldcolours (0) Y\y=100
o525 max (m) chromatic value, CO0
Mghromaticity (10, Y10)
Name and spectral range
Ry 561 _770 Y, 520 770
o Om 475_573 G, 380_561
73 Rm 380520 M, 573 475
o

CIE 1964 X0

0,0

708

0,0 0,2 0,4 0,6 0,8 1,0

Xo=97,28.Yyy=99,99.7,=116,14
%,=0,3103y,=0,3190
Ao=(ag-[2g n+80,y*ap,Al) Y.
Bo=(bo=[bo,+0o,y+bo,
ag = ao [x/y]

b = byo [z

ay =1, byp=-0,4

o

\
n=C00 -40
ag,y=ay(Y/Y1g-1)

b, y=boy(Y/Y1g-1)
a,y=0,000,b,,=0,000

a9 A=0,000,by ,=0,000
Ostwaldcolours (0) Yy\=100 27
max (m) chromatic value, CO0
chromatic value Ag 10, Bg10

CE341-1A_1

CE341-2A 1

Xu=97,28Y,,-99.992,-116,14 B,
¥=0,3103y,,=0,3190 4
Ar=(ar~[ag n+ay yt+ag al) Y

Xu=97,28Y,799,99.2,~116 14 B,
%,=0,3103y,=0,3190 1
Ax=(ay[ag n+ay, y*ap al) Y

By=(by=[by ntby y+by al) Y 0 Bo=(ba-[by 1tz y+bo Al) Y
a1 =ay[(x-0,179H] g 8 = a9 [(x-0,179/y] 88 +
by =byo [ZA =bs0 [(Mpx+bp1)/Y] 72
a0 = 1, byp= 0,4 ap=1 by=-04 & \O\Q A
my1=1,000,b5;=0,171 ) 4 Mp1=-0,157,bp1=0,385 ) : 2
n = C00 —40 ' 40 n=C00 _40 . ' 40
ay,y=ay(Y/Y1g-1) a5 y=agy(Y/Y1g-1) 55
by y=boy(Y/Y1g-1) by v=boy(Y/Y1g-1) 27
a,y=0,000,b,,=0,000 r ayy=0,000,b,y=0,000 s
ay o=0,000,b; x=0,000 2 ap,4=0,000,b, 5=0,000
Ostwaldcolours (o) Yyy=100 Ostwaldcolours (0) Yy=100
max (m) chromatic value, CO0" 1 T-40 max (m) chromatic value, COO T-40
chromatic value A1 10, B1.10 chromatic value A 10, Bo10
CE341-3A_1 CE341-4A_1

Xu=97,28Y,~99.99.7,~116,14 B, X4=97,28Y,=99,99.7,~116,14 B,
%y=0,3103y,,=0,3190 240 Xy=0,3103y,,=0,3190 240
Ag=(ag-[ag n+ag y+ag al) Y 88 7o Ag=(ag~[ag n+ay, y+ay Al) Y

By=(bg~[Dg n+by y+bg Al) Y

ay =2y [(x-0,171/y] T 8

b y=boy(Y/Y1g-1)

Bg=(bg-[bg ntb3 y+b3 Al) Y a
ag = ayq [(x=0,171)y] L
b3=byo [(Mp1x+bp1)/y]
ay=1, byp=-0,4 A
Mpy=-1,3440,=0.781 /. \ \3
n=Coo —40 ' ' 40
2!
2,=0,000,,=0,000 & C
25,4=0,000,05,4=0,000

0
a3 y=ay(Y/Y1g-1)
27
Ostwaldcolours (o) Yyy=100 1

bs=byo [(Mp1x-+bp1)/y]
ay =1, byp=-0,4

mp1=-0,157 bp;=0,385
n=C00 _40 )

3y, y=agy(Y/Y1g-1) 5!

by y=boy(Y/Y1g-1) 27 ]
a,y=0,000,b,,=0,000 11
a4, x=0,000,b, ,=0,000

Ostwaldcolours (0) Yy=100

max (m) chromatic value, CO0 T-40 max (m) chromatic value, CO0 T-40
chromatic value Az10, B310 chromatic value A410, B410

CE341-5A_1 CE341-6A_1
X=97,28Y,=99,997,11614 B, X4=97,28,Y,799,99.2,7116,14 B,
Xy=0,3103y,,=0,3190 L40 X=0,3103y,,=0,3190 140
As=(a5-[as5 n+as y+as al) Y As=(ag-[g n+3g,y*ag,Al) Y 88 | 7o
Bs=(bs—[bs b5 v+bs Al) Y 88 - Bg=(Pg—[bg n+bs,y+0s Al) Y 44
as=ap,[(0,86x—0,71y-0,026 I ag = agq [x1y] 41
bs=b,[(0,19+0,38/-0,240)¥] 4 bg=bgo [(Mp1x+bp)Y] o70
a5, = 1,00,by, = 1,00 A ay0=1, byy=-0,4 A
Ag.G.y,R=475,503,574,494% E nm \ 5 \ \ \ 6
n=C00 —40 ' ' 40 n=C00 —40 ' ' 40
a5 y=ay(Y/Y1g-1) ag y=apy(Y/Y1g-1)
bs v =by(Y/Y1g-1) S 1 Bg,y=boy(Y/Y1g-1) 1
2,y=0,000,b,,=0,000 > a,y=0,000,b,,=0,000 5
a5 5=0,000,b5 ,=0,000 11 a5 4=0,000,b5 ,=0,000 -
Ostwaldcolours (o) Yyy=100 Ostwaldcolours (0) Yy=100 1
max (m) chromatic value, CO0 T-40 max (m) chromatic value, CO0 T-40

chromatic value (As 1. Bs 10

chromatic value Ag 10, Bg10

CE341-7A_1

CE341-8A_1




515 520 Ostwaldcolours (0) Y~=100 X=102,37,Y,,=99,99,7,,=81,25 BD
)é% U 4 Nar%% alnd spectral range éo=$o—{22n:§gv:ta)gﬂ§ i %180
Ry 561 _770 Y, 520 770 0_1-0"L70,n"H0,v TR0,
Gm 475_573 (G, 380_561 ag = ao [x/y] 6 4 5
L8 380 520 M, 573 475 bo =bao [2]
ay =1, byp=-0,4 A
1 1 1 Lo
n = P00 —40 ' ' 40
26230 ag y=apy(Y/Y1g~1)
b, y=boy(Y/Y1g-1) 1 36
apy=0,000,b,y=0,000
a9,4=0,000,b 4=0,000 NS
/ CIE 1964 X10 Ostwaldcolours (0) Y\\=100 @
0,0 + ZOg65es max (m) chromatic value, POO T-40
0,0 0,2 04 0,6 0.8 10 chromatic value Aq 10 Bg10)
CE341-1A_1 CE341-2A 1
X,=102,37Y,=99.99.2,-81,25 B, X,=102,37,-99,99.2,-81,25 B,
%y=0,3609y,,=0,3525 210 Xy=0,3609y,,=0,3525 E
Ar=(ar~[ag n+ay yt+ag al) Y 91 Ag=(@g[8p ntag vty a) Y
Bo=(by=[by +bs y+0y Al) Y
2y = a0 [(x=0,17D/y] +
;=50 [(Mp1x+bpy)/y] 91| go
0= 1, byg= —0,4
. 0= 1, byo 5 A,

By=(by[by +by y+by A]) Y @
a = a5 [(x-0,17)] 1 s
by = by [z
ay=1, byp=-0,4
mr,=1,000,b4=0, 17,1 , :
1 3

Mp;=-0,157,0p1=0,385

:
n=P00 40 n=P00 _40 *—_'4; 40
3y, y=ay(Y/Y1g- 1) a5 y=agy(Y/Y1g-1) & %
by y=boy(Y/Y1g-1 by v=boy(Y/Y1g-1) 18
a,y=0,000,b,y=0, 000 a,y=0,000,b,y=0,000
2y 4=0,000,b; ,=0,000 ap o=0,000,b, ,=0,000
Ostwaldcolours (o) Yyy=100 Ostwaldcolours (0) Yy\=100
max (m) chromatic value, POO T-40 max (m) chromatic value, POO T-40
chromatic value A1 10, B1.10 chromatic value A 10, Bo10

CE341-3A_1 CE341-4A_1
Xy=102,37,Y,,=99,99,7,,=81,25 B3 X=102,37,Y,,=99,99,7,,=81,25 B4
Xy=0,3609y,,=0,3525 +40 X=0,3609y,,~0,3525 +40
Ag=(ag-[ag n+ag y+ag al) Y Ag=(ag~[ag n+ay, y+ay Al) Y
Bg=(bg-[bg ntb3 y+b3 Al) Y 91 80 B,4=(b4~[Dy, 7+by y+by l) Y
ag = ay[(x-0,17D/y] 4L 5 ay =2y [(x-0,171/y] g
ba=byq [(Mp1x+bp1)/y] bs=byq [(Mp1x+bp1)/y] 91 go
ay=1, byp=-0,4 3 ay =1, byp=-0,4 45
Mp;=-1,344,b5;=0,781 ) ) 3 Mp;=~0,157bp1=0,385 ) ) R
n = P00 —40 ' — 40 n = P00 —40 %\’\._ "] 40
a3 y=ay(Y/Y1g-1) 3y, y=agy(Y/Y1g-1) < %
b y=boy(Y/Y1g-1) ) by y=boy(Y/Y1g-1) 8 |
a,y=0,000,0,,=0,000 5 5 ay=0,000,b,y=0,000
ag 4=0,000,b5,,=0,000 19 a, 4=0,000,b4 5=0,000
Ostwaldcolours (o) Yyy=100 Ostwaldcolours (0) Yy,=100
max (m) chromatic value, POO T-40 max (m) chromatic value, POO T-40
chromatic value Az10, B310 chromatic value A410, B410

CE341-5A_1 CE341-6A_1
X,=102,37,~99,99.2,78125 B, Xy=102,37,~99,99.7,78125 B,
%y=0,3609y,,=0,3525 240 Xy=0,3609y,,=0,3525 240
As=(a5-[as5 n+as y+as al) Y As=(ag-[g n+3g,y*ag,Al) Y
Bs=(bs—[bs b5 v+bs Al) Y Bg=(Pg—[bg n+bs,y+0s Al) Y 91| 80
as=ay,[(0,86x-0,71y-0,026)§] 9 g9 g = a0 [X/y] =+ 45
b5=b2x[(0,19<+0,3&l—0,240 bg=bs0 [(Mp1x+bp1)/y]

=1,00,b5 = 1,00 45 a0=1,bp=-04 £ A

)\B 6,v,R=475,503.574,494¢.E, nm ) 5 ) ) ) 6
n = P00 —40 ' 40 n = P00 —40 ' " 35840
a5 y=apy(Y/Y1g-1) 53 ag y=apy(Y/Y1g~1)
bs y=boy(Y/Y1g~1) bR b, y=boy(Y/Y1-1) 1
a,y=0,000,5,,=0,000 B a,y=0,000,0,y=0,000 54 S
a5 4=0,000,b5 x=0,000 a5,4=0,000,b5 4=0,000 19
Ostwaldcolours (o) Yyy=100 Ostwaldcolours (0) Yy=100
max (m) chromatic value, POO T-40 max (m) chromatic value, POO T-40

chromatic value (As 1. Bs 10

chromatic value Ag 10, Bg10

CE341-7A_1

CE341-8A_1




Ostwaldcolours (o)
o525 max (m) chromatic

Name al

Yi=100
value, Q00

Mghromaticity (x10, Y10

nd spectral range

R 561_770 Y, 520_770
e Gm 475 573 G380 561
$ 380520 M, 573 475

CIE 1964 X0

0,0 0,2 0,4 0,6

Xy=97,65,Y,,=100,00Z,~118 42 g3
%,=0,3089y,,=0,3163 ]
Ao=(ag-[ag n+80,v*ap,Al) Y
Bo=(bo=[bo,+0o,y+bo,
ag = ao [x/y]

b = byo [z

ay =1, byp=-0,4

-

n=Qo00 -40
ag,y=ay(Y/Y1g-1)

b, y=boy(Y/Y1g-1)
a,y=0,000,b,,=0,000 5
a9 A=0,000,by ,=0,000
Ostwaldcolours (0) Yy=100
max (m) chromatic value, Q00

28 1

0.8 10 chromatic value (Ag10 Bo1o)

CE341-1A_1 CE341-2A 1
Xu=97,65Y,,=100,00Z,~11842 B,, gs Xu=97,65,Y,~100,002,~118.42 B,
¥=0,3089y,,=0,3163 1 7 %,=0,3089y,,=0,3163 240

Ax=(ay[ag n+ay, y*ap al) Y
Bo=(by=[by +bs y+0y Al) Y
a =2y [(x-0,171)/y] 88

Ar=(ar~[ag n+ay yt+ag al) Y
By=(by=[by ntby y+by al) Y 0

ay = ago [(x-0,172/y] 4
by =byo [ZA

ay=1, byp=-0,4
m1=1,000,b,=0,171 n

0,=byo [(Mp1x-+bp1)/y]
ay=1, byp=-0,4
Mp1=-0,1570p,=0,35

|

n = Q00 —40 ' 40 n = Qo0 —40 \
ay,y=ay(Y/Y1g-1) a5 y=agy(Y/Y1g-1) 56
by y=boy(Y/Y1g~1) by v=boy(Y/Y1g-1) 28
a,y=0,000,b,,=0,000 T a,y=0,000,b,,=0,000 T 1
ay 4=0,000,b; 4=0,000 a, o=0,000,b, ,=0,000
Ostwaldcolours (o) Yy=100 Ostwaldcolours (0) Yy=100
max (m) chromatic value, QO%8 b max (m) chromatic value, Q00 T-40
chromatic value A1 10, B1.10 11 chromatic value A 10, Bo10

CE341-3A_1 CE341-4A_1
X,=97,65Y,=100,007,711842 B, X4=97,65,Y,,=100,007,7118,42 B,
X=0,3089,,=0,3163 g X=0,3089y,,=0,3163 T 40
Ag=(ag-[ag n+ag y+ag al) Y Ag=(ag~[ag n+ay, y+ay Al) Y
B3=(D3-[b n+b3 y+b3 Al) Y B=(D4=[byg +ba y+04 pl) Y
ag = ay[(x-0,17D/y] f ay =2y [(x-0,171/y] L 88

b3=byo [(Mp1x+bp1)/y] 0
ay=1, byp=-0,4

bs=byo [(Mp1x-+bp1)/y]
ay =1, byp=-0,4

mp;=-1,344,bp,=0,781 n A mp;=-0,157,bp;=0,385 ﬁe, N
n=Q00 —40 ' 40 n=Q00 —40 ' ' 40
a3 y=ay(Y/Y1g-1) 3y, y=agy(Y/Y1g-1) 5!
b3 v=b,y(Y/Y1g-1) | by y=boy(Y/Y1g-1) 28 ac
ay=0,000,b,y=0,000 a,y=0,000,b,,=0,000 1
ag 4=0,000,b3 x=0,000 5 ay o=0,000,b4 ,=0,000
Ostwaldcolours (o) Yyy=100 1 Ostwaldcolours (0) Yy=100
max (m) chromatic value, Q00 T-40 max (m) chromatic value, Q00 T-40
chromatic value Az10, B310 chromatic value A410, B410

CE341-5A_1 CE341-6A_1
X,=97 65,Y,,100,002,~118,42 B, X=97,65,Y,,100,007,=118,42 B,
x,,=0,3089y,,=0,3163 +40 X,=0,3089y,,~0,3163 +40
As=(35[35,1*35,y*a5,a]) Y Ae=(36~{36,1*35,y*35l) Y 88 | 71
Bs=(bs—[bs b5 v+bs Al) Y 88 -1 Bg=(Pg—[bg n+bs,y+0s Al) Y 43
as=a,[(0,86x-0,71y-0,026 Je ag =y [x/y] +
be=b,{(0,19+0,38/-0,240)] 3 be=bz0 [(Mp1x+bp1)y] 970
a5, = 1,00,b, = 1,00 ay0=1, byg=-0,4
Ag,G,y,R=475,503,574,494§ E nm L D L L L N
n=Q00 —40 ' ' 40 n = Qo0 —40 ' ' 40
a5 y=apy(Y/Y1g-1) ag y=apy(Y/Y1g~1)
bs y=boy(Y/Y1g~1) 5 1 b, y=boy(Y/Y1-1) 1 2
,,=0,000,5,,=0,000 5 a,,=0,000,5,,=0,000 5
a5 4=0,000,b5 ,=0,000 11 a5,4=0,000,b5 4=0,000 -
Ostwaldcolours (o) Yyy=100 Ostwaldcolours (0) Yy=100 11
max (m) chromatic value, Q00 T-40 max (m) chromatic value, Q00 T-40

chromatic value (As 1. Bs 10

chromatic value Ag 10, Bg10

CE341-7A_1

CE341-8A_1




